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QUESTION 1

The UD Connect extraction of document level data from a SQL Server database results in a loss of document detail in
BW. What possible action could you take to resolve this? Select the correct answer.

A. Use a generic DataSource with a numeric pointer for the delta service.
B. Use a DataSource based on SAP Data Services to restore the detail.
C. Use a DSO for Real Time Data Acquisition.

D. Use a DB Connect based DataSource.

Correct Answer: D

QUESTION 2

What can you do in the remodeling toolbox? (3)

A. Convert an InfoCube dimension to a line-item dimension
B. Change the standard aggregation of the key figure

C. Delete a characteristic

D. Change the reference characteristic

E. Delete a characteristic of an InfoCube

Correct Answer: ACE

QUESTION 3

What are the advantages of using a line-item dimension when modeling an InfoCube? (2)
A. The primary key of the InfoCube fact table is shorter

B. The number of joins that must be executed during query runtime is reduced

C. Data is loaded into the InfoCube without generating DIM Ids for this dimension

D. Aggregates on this InfoCube do NOT need to be built

E. The number of joins that must be executed during query runtime is reduced

Correct Answer: C

QUESTION 4
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Which of the following are true regarding navigational attributes? There are 3 correct answers.
A. They are directly linked to the InfoCube Dimension tables.

B. They must be switched on for specific InfoProviders.

C. They do not generate additional tables outside the InfoProvider.

D. Behave like Characteristics in a Dimension table.

E. Must be part of the definition of the Characteristic InfoObject definition.

Correct Answer: BDE

QUESTION 5

What pre-requisites must be fulfilled to use a generic DataSource for real time data acquisition (RDA)? There are 2
correct answers.

A. A Generic Delta Service must be part of the definition.
B. The delta field must be a selection criteria.

C. The Delta Service must be marked for RDA.

D. The delta field must be a numeric pointer.

E. The DataSource must be based on a function module.

Correct Answer: AC
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